(Sheet35 ADDITION PROBLEMS 1 A0 el

Fill in the boxes.

®

7 and 6 make altogether. 5 plus 7

Add 4 to 9. 8 plus 3

Find the total of 14 and 6. 7  plas 9

6 is 5 more than . 12 plas 5

Add together 8 and 8. 4 plus 12

The sum of 10 and 4 is i 9 plus 11

©

9 greater than 28 is c Find three one-digit numbers with these

totals.

Together 59 and 40 make

.@ 7
Find the sum of 53 and 12.
65 and 7 equals I
(> 2
34 plus 20 is
is 17 more than 41.
54 is plus 8. Find three two-digit numbers which give
DS each total.
The total of 32 and is 92.
1&

and 27 make 62 aitogether.

more than 77 is 83.

@EQ

equals 30 and 28.

146 is added to 84.




